Alg2 Review Sec 9-2,9-3,9-6  Spring 2016

Solve each. Check for extraneous solutions.

5 3 _ 1 1.4 _ 1
1. x—6 x+2 x2—d4x-12 2. x+x2 3

x  _ x+10 3x 20 - _4x
3. x+2 x2-4 4. x~4+x2—3x~4 x+1
5. Each graph is a translation of the function y = 335 Write the equation of each.
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6. Sketch the graph of each. State the equations of the Vertical and Horizontal Asymptotes. MP\*
a) y=—10 _3° b) y=025 9 ;\)O(fl C/A’]’(/
x—2 x+5

7. Find all points of discontinuity and calssify them as either Holes or Vertical Asymptotes.

_ 4x*-20x b) v = x*-9 _ x>+ 8x+12
Ay =27 ) Y= e Y= 5e s

8. State the equation of the Horizontal Asymptote, if any.

9x2 +15x—8 12x+7 10x% — 18x +21
) V=500 ) V=51 )y ey
9. Find the x and y intercepts of each, if any.

2x? + 8x x2—2x—24 x2+16
a = &3 TOL b = A ek L c) a i
)y x?-9 ) x3 + 5x% +4x )a) ¥ x2 —x-20

10. Graph the given rational function. Show the intercepts, the asymptotes as dashed lines, and the correct
behavior around each asymptote. A ‘7\%\@67
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Alg2 Review Sec 9-2, 9-3,9-6  Spring 2016  |JANSWERS

1.x=~~2-2—7- 2. x=-1,12 3.x=5 4, x =20
5. a) y=So7t+2 b) y T -4
6. a) b)
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7. a) VA: x=-5 Hole: x=5 b) VA: x=0,4 Hole: x=-3 c¢) No pts of discontinuity.

8.a) NoHA b) HA: y=0 ¢) HA: y=2.5
9. a) x—-int=-40 y—-int=20 b) x—int=6(-4isahole) y-—int=None

b) x—int =None  y—int = T -0.8

10. x—int=——é—,3 y—z'm‘=—i% H4 :y=2 VA : x = 5,-2
Graph:

>
. h
1
x
=11
16

vt
+ ]




